MATES WITH
BRACKETS FORNEUTRIKPOCKET | BRK154 = | B oo | g ACEBACKSTAGE CO
STYLE POCKET www.acebackstage.com
18.000 ’
5 | D
o — | ©
C ° 0 (@] (@] /
o
\ [} [}

o

o

S o

o

N ° ° /_ B

L —0O /=
] INSTALLATION INSTRUCTIONS
o o
° ° INSTALL LEFT AND RIGHT BRACKETS USING PROVIDED
A (4) 8-32 3/16 SCREWS. HOLES WILL NEED TO BE ADDED.
o S PN INSTALL ISOLATION BRACKET USING PROVIDED
B (32) 8-32 3/16 SCREWS. HOLES WILL NEED TO BE ADDED.
o BRACKET MUST BE INSTALLED BETWEEN CUTOUTS ON

PANEL MOUNTING BRACKET.

INSTALL PANEL MOUNTING BRACKET. ATTACH TO LEFT
AND RIGHT BRACKETS USING (2) #6 SELF TAPPING

C SCREWS PROVIDED. ATTACH TO BOTTOM OF BOX USING
(3) 8-32 3/16 SCREWS PROVIDED. HOLES WILL NEED

TO BE ADDED.

ATTACH ACCESS PANEL TO LEFT AND RIGHT BRACKET
D AND PANEL MOUNTING BRACKET USING (6) #6 SCREWS

PROVIDED.
REVISION: 11/2019 MATERIAL : COMPATIBLE ROUGH IN BOXES: DESCRIPTION: R!]EV
Horizontal Panel Bracket Kit for Double Wide Size 6.00" Deep
ALL DIMENSIONS ARE FOR REFERENCE - 16ga Powder Coated Steel ; . g SHEET
ONLY. ALL DIMENSIONS ARE IN INGHES 9 104BBX / 104BBXW Back Box. Bracket installation to support Neutrik Pocket Body 1 o 1

construction phase sub-assembly.




	Sheets and Views
	Layout1


